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1. ~t"tt -Jr 111 J¥l~ 1t(Improper Integral) 

x2

(a) 	 s: e- dx (6%) 

(b) 	 r<Xl e-I sint dt (6%)
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2. ~~)t<.M-r 111 'f1Jti1t::?f.Ii«(Ordinary Differential Equations) 

(a) 	 y" -lOy' + 25y = 0; yeO) =1,y(l) =0 (150/0) 

(b) 	 y" +9y =cos3t; yeO) =2,y'(0) =5 (15%) 

(c) 	 y" + 4y' + 4y = e- I
; yeO) = y'(O) =1 (15%) 

dx dy
- -+x +y=o
dt dt 

(d) dx + dy +2y= 0 (15%) 
dt dt 


x(O) =0, yeO) =1 


3. ~~)t<.r 111 ~ii~;fIL-t;fILM**:j~(Laplace Transform) 

(a) 	 J(t) = t 2 cost (70/0) 

(b) 	 J(t) = e3t(9 - 4t + lOsin ~) (6%) 
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(a) 1t PI', ~~... [A] ~ft111 i({t(Determinant)' #1lt1t.(Eigenvalue)&4~1tiM.(Eigenvector)~~ 
1nr? (90/0) 


